
PROFESSIONAL

x2

x2

x2

x2

x2 x2 x2

x4

x6

x2

14

32
33

34

35

32

41

46

45

42

4443

48

57
5649 50

51
52

59

53

55
54

58
x3

60

61

62

47

4039 38

37

63

64

15
16

18
19

20 21 22

24

25 26 27 28

SPARKY
161521

X 72CE

67

65 66

x2

17 23

30

29 31

1 2 3 4

x4

5
6

7 8 9108 109

110

6

1011

12 13

X 72CE - 170239

1 116218 Nut
2 116219 Collet 6.0
2 116220 Collet 8.0
3 116217 Bush
4 360700 Screw M4x25
5 360010 Spring washer 4H
6 152515 Bearing shield
8 330430 Bearing 6200 2ZР63LDS18
9 127863 Washer В10.1х16х1.5 

10 127857 Armature set
11 126243 Fan
12 330308 Bearing 6082ZР63LDS18
13 164934 Rubber bush
14 115521 Diffuser
15 272960 Claming pin
16 120831 Stator set
17 124083 Choke
18 254960 Guiding switch lever
19 170190 Slide
20 210493 Spring
21 254922 Brush holder set
22 305421 Brush
23 305420 Brush with a switch
24 127379 Switch 4А 
25 114138 Cord with a plug
26 206687 Cord protector
27 256500 Cord clamp
28 361360 Screw К 4Х9.5 TORX 20
29 170537 Electronic block
30 160542 Body with cover
31 132644 Screw
32 165057 Casing handle set
33 116273 Limiter
34 330483 Circlip B12
35 175654 Butterfly bolt

till 20.Nov.2013 - 35 123309 Butterfly bolt

37 361328 Screw K4x18 TORX 20
38 360012 Bolt D1-M6X45
39 360084 Washer M6 
40 150888 Bush
41 150889 Spring
42 150891 Console
43 360173 Nut M8
44 116262 Spring
45 123250 Ruler

till 20.Nov.2013 - 46 123307 Butterfly bolt
46 175655 Butterfly bolt
47 116269 Pin
48 126174 Lever
49 123318 Fixing screw
50 360385 Washer М5
51 116272 Washer
52 361436 Screw J1-M4x14
53 360149 Nut M4
54 330074 Pellet  5-200
55 116913 Spring
56 361358 Screw J2-M4x8-8.8
57 361440 Screw J1-M4x22
58 361438 Screw J1-M4x 18
59 116270 Disk
60 119395 Base with pillars
61 123248 Plate
62 360672 Screw M4x10
63 116279 Ruler
64 116274 Slide panel
65 129384 Spanner 14
66 113135 Spanner 17
67 120748 Adapter

108 330350 O-ring 26X2 NBR70
109 330661 Circlip A30
110 152518 Bearing shield set

161521 171066

19SPARKY POWER TOOLS • 2018

POS.
No. Ref.No. Description POS.

No. Ref.No. Description


	Button 5: 
	Page 198: 



